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X1 A O #include <stdio.h>
int main(void)
{
int x; // AW ¥E MEE #Hy L —
inty; // FHM 5 MY s
int sum; // & 82| &2 XNt H
X = 100;
Iz y = 200; e R
sum = X + y;
printfF("FT2(2: %d", sum); L
return O;
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// 0| 22 ™A 7} FA0|C}.
int x; // BH= x A

/*

* 1t O|2: add.c

"M E4E Cle Zaa
* Xt AF : In-Gook Chun

*/

/*************************************
* mh2l 0|2: add.c

*MY  E4E Ot Z203Y

* Xt M AF : In-Gook Chun
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#include <stdio.h>

int main(void) §
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intx, /B M2 NFE BR 2 ez .
inty, //FPM E4S HEE Ha
int sum; // £. 340 82 H&GH= g

@5 x = 100;
y = 200;
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return 0;
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#include <stdio.h>
int main(void)

{
int x;

inty;

int sum;

x = 100;

y = 200;
sum = X +V;

printf("F =2 &: %d", sum);
return O;
}
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#include <stdio.h>

#7|S 2 A=

oG It stdio.h& OLY)| £

stdio.h= & Q=

C}

ISESE=T

-

#include <stdio.h>

int main(void)

{
printf(“HiI\n”");

return O;

s

int printf(char *,._.);
int scanf(char *, ..

int main(void)

{
printf(““HiI\n");

return O;

}
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process()

waig | [
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A = Sk S| + SH 2|

int main(void)\
{

sta8

INt X;

i nty: gto| BH| AlE
INt sum;

— NN

— LUV

sum = X +y,
printf(" =2 &: %d", sum);

~

return O;
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int x; // ZEHM =2
inty; // S8M 2 HEO

intsum; // & =2 &= H&ol= H
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A= F(data type): H7F g2 HIO|H 7t QK| 221X, Of
LI = OFE O HIO|H 21X S X[ g5t= A

‘ H& RFETE '

R EANS: Ao ‘ = R '
char

short, float,
int, double,
Tong Tong double
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intx; // W S XNA
inty, // SHM ¥3+S XN&AS

intsum; // & &89 &= H&ot= HAH
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™ At(assignment operation):
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100;
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= 200;
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S * X+y

e - -y

= * X"y
L / ROy

L}H X| % X %y
sum =X +Yy;

e
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X+y
X~y
Xy
CEXx=+y
X mod y
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printf(""Hello World!\n");

« Qls=(argument): gt0f| A M ot= H|O|H
« = AtE(string): 2AtEs= 02 /i LIES A

oo Wo 1 -

printf()
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Jed d+5 108 +=2 =35t} 1, -2, 10, 20, -100
%t 2780 U= 42 SHeH. 0.1, 10.1, 3.14

J6C =X SE= T?:';._E}. ‘a’, 'A’

%S =49 Al =2t “abc", "ABC"

oA Elol 2 RFY

\ 4
printf (st %d 2| A== %f \n", nunber, heidht);
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// NEXEREEH AHER2 2710 "0 T2 AHLMSIH =3
#include <std|o.h>
int main(void)
{
int x; [/ HEW A8 Y Hp
inty; /SR 8 HEE #Hy
int sum; /1 27029 ol T2 AEY W
printf(" AR =XtE LHSIA| "), // LY Ot OA|X] &4
scanf("%d", &x); // StLES| H4E BHobA xOf M

printf("SEHR| XIS QUASIA|2:");

scanf("%d", &y);

sum = X + Y,

printf("SF=2=2| &t %d", sum);

return O;

/) B3 2712 3ot
// sume| ZfE 1

// 02 Q& & Hig}
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scanf("% O %O..", &H=1, &2, ..);
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#include <stdio.h>

int main(void)
ANERIZHE /UG E

{ el
. | = 5 =T,
int salary;// 22 R

: L -
int deposit; /] M= UTol 10x122 Do

— — o 10 TAA MEY
printf"2=S Y HoMA[2:"); 2 HAIRITH,
scanf("%d", &salary);

71_1_7_}
deposit = 10 * 12 * salary; /
printf("10EH S 9t9| X =H: %dWn", deposit);

i

iy

=

return O;
}
== 2E0olAI2: 200
108 =0tol H{=2H: 24000
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#include <stdio.h>

Z= Y/

int main(void)
{
float radius;
float area; // HAE

printf("EtX| &= Y EHSIA[R2: "),
scanf("%f", &radius);

EEEE

area = 3.14 * radius * radius;

printf("& Q| HA: %fWn", area);

return O;

GASS BEotAl2: 5.0

2 2| H4:78.500000
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/* B S AASs T2 3y
#mclude <stdio.h>

int main(void)

{

float rate; /] ©l/Ee 2ta

float usd; // Et2{3}

int krw; /] A=t

printf("S 20 CHot Aot 2tES BHOIA 2" // & L HIA|X|
scanf("%f", &rate); /] MNEAAREH g QS
printf("@t 5HS YHOIA|L2: ") //

H
scanf("%d", &krw); /] A3}
usd = krw / rate; // S22 At
printf(" 2 2 %d &2 % &L Chwn", krw, usd); // A4t AL =5

return O; // & Zitgr ghst

sl et Eot etE= B HotAl2: 928.78
OJQF sH= %@,8}/“9 1000000
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